F.0.B ATLANTA

2018 Parts Price List

Item ID Description List
000.00.001 |TRI-CLAMP CON 1-1/4BSP X 1-1/2 $241.12
000.00.SS1 |DEF RING GASKET EPDM 1.5 ANSI $5.97

000.00.SS1F|FITTING S 1-1/2 TRI-CLAMP X 1- $294.70
000.00.SS2 |DEF RING GASKET EPDM 2.0 ANSI $6.76
001.03.025 |COVER W/ LOWER PART F414 $43.50
001.03.047 [TERMINAL PLATE CPL F414 MOTOR $30.83
001.03.100 [MOTOR COVER 3000RPM 2-POLE $41.74
001.10.002 |PETROLEUM HOSE 1" OD=34/2M $87.94
001.10.022 |HOSE 1" OD=37 FDA/M $129.40
001.10.424 (CLIP PP ALL BARREL PUMPS $16.88
001.10.622 |ATTACHMENT FITTING PP 40/41MM $59.08
001.10.625 [ATTACHMENT FITTING PP 54MM $54.01
001.10.800 [THREADED RING POM SSK400 $12.26
001.10.804 [CLAMPING ELEMENT PP SSK400 $50.16
001.10.836 |HOSE KIT DEF/6M $575.54
001.12.136 [LEVER QUICK ACTION TAP PP $26.95
001.12.137 |VALVE STEM W/ O-RINGS PP/VITON $23.24
001.12.141 [GUIDE SLEEVE QUICK ACT TAP PP $12.34
001.12.228 [OUTLET TUBE PP D=20 X 220 $114.49
001.12.238 |VALVE STEM $4.73
001.12.241 [OUTLET TUBE PVDF D=20 X 220 $146.99
001.12.245 |SAFETY HANDLE PP QUICK ACT TAP $19.08
001.12.246 [NOZZLE PP QUICK ACTION TAP $15.70
001.12.293 |VALVE STEM CPL $34.03
001.12.294 (VALVE STEM $17.92
001.12.295 |MAIN SEAL PTFE $10.93
001.12.307 [VALVE STEM $21.83
001.12.309 |AUXILIARY SEAL PTFE HAND NOZZL $10.93
001.12.600 [GUARD LEVER HANDLE NEW HAND TA $16.10
001.12.607 |LEVER PP QUICK ACTION TAP $25.33
001.12.647 [MAIN SEAL PTFE $15.19
001.12.648 |AUXILIARY SEAL PTFE $9.72
001.12.649 (VALVE STEM CPL HAND TAP $101.28
001.12.653 |LIMIT STOP FOR LOCK HAND NOzZZL $109.31
001.14.070 |ADAPTER PP FOR 28MM PUMPS $43.61
001.14.071 |ADAPTER PP FOR 32MM PUMPS $43.61
001.14.317 (VALVE BODY CPL PP FUME GLAND $78.71
001.21.000 |HOIST/LOAD BALANCER <15 KG $880.60
001.21.002 |HOIST/LOAD BALANCER 16-20 KG $1,131.96
001.41.688 |METER CONN PIECE PPR 1-1/4" $36.01
001.41.690 [METER STRAINER FMC $29.82
001.41.919 |HOUSING PP FMC/PP METER "F" $358.66
001.41.920 [HOUSING ETFE LIQUID METER "F" $1,188.49

FLUX Pumps Corporation
300 Townpark Drive, Ste 110, Kennesaw, GA 30144

1-800-367-3589

aoR

www.fluxpumpsusa.com

vl.l
1



F.0.B ATLANTA 2018 Parts Price List @

001.41.939 |CONN PIECE STRAIGHT PP/EPDM $76.75
001.41.948 |PIPE CON FMC CPL PVDF/PVC 1" $58.94
001.41.951 [BALL W/ DRIVE PIN FMC/PP METER $158.00
001.41.980 |FILTER SCREEN ETFE METER 1-1/4 $34.24
001.41.985 |FILTER SCREEN ETFE METER 1-1/2 $37.70
001.41.996 |MEASURING CHAMBER CPL PPS $349.49
001.41.997 |MEASURING CHAMBER CPL ETFE $625.61
001.42.004 |NAUTATING DISC CPL PPS W/PIN $78.21
001.42.015 |INTERM FLANGE PP MOUNTING $76.66
001.42.017 |PROTECT BOOT ELECT DISP UNIT $161.19
001.42.018 |COVER S FMC DIGITAL FACE $130.47
001.42.117 |FLUXTRONIC DIGITAL DISP FMC/FM $478.21
001.42.121 |PROTECTIVE BOOT FLUXTRONIC $38.45
302.44.501 [IMPELLER ETFE D=25 F303K $22.90
303.40.050 [IMPELLER ETFE D=19 F303K $27.28
303.40.635 |COUPLING CAGE PA F303K $26.06
303.40.637 |COUPLING STAR F303K $6.42

304.20.018 |SHAFT S D=4 20" $38.42
304.20.019 |SHAFT D=4 LENGTH=700 $35.97
304.20.020 |SHAFT S D=4 39" F314S $39.34
304.20.034 [IMPELLER ETFE D=25 F314 PUMP $23.63
304.40.005 |OUTER TUBE F314PP 25/19 39" $44.04
304.40.015 |SHAFT 39" HC F314PP 25/19 $239.11
304.40.020 |FOOT PIECE F314 PP 25/19 $26.00
304.40.021 |BEARING HOUSING PP F314PP 25/1 $31.69
304.40.022 |IMPELLER ETFE D=19 F314PP $28.64
310.00.017 |MOTOR CPL F310/314 120V 60 HZ $390.00
310.00.028 |BEARING SLEEVE F310 $12.34
310.40.002 |JR FLUX PUMP END F310PP 25/19 $286.38
310.40.003 [JR FLUX PUMP END F310PP 25/19 $360.06
310.40.021 |OUTER TUBE CPL F310PP 25/19 27 $47.00
310.40.027 |FOOT PIECE F310PP 25/19 $11.14
310.40.060 |COUPLING CAGE COMBI FLUX $26.26
310.40.061 |CLAMP COMBIFLUX $11.75
314.20.003 |T-PIECE F314S LAB PUMP $71.34
314.40.002 [JR FLUX PUMP END F314PP 25/19 $388.20
314.40.003 |T-PIECE F314PP 25/19 LAB PUMP $39.39
314.40.061 |CLAMP PIECE -COMBI FLUX $11.75
314.60.021 |BEARING HOUSING PVDF F314 25/1 $36.56
400.05.012 |HOUSING SPEED CONTROL F4000 $85.64
400.99.SSS [INNER TUBE CPL F424PP 50/38 3M $759.20
407.05.000 |HOUSING FEM4070 $60.49
407.05.001 |BEARING FLANGE FEM4070 MOTOR $32.63
407.05.002 |[MOTOR COVER FEM4070 MOTOR $50.08
407.05.003 |HANDLE COVER FEM4070 MOTOR $16.00
407.05.005 |ARMATURE 230V 50HZ FEM4070 $203.84
407.05.010 |SWITCH KNOB F4070 MOTOR $9.57

FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 2



F.0.B ATLANTA

2018 Parts Price List AUX

407.05.011 |TRIP CAM F4070 MOTOR $12.39
407.05.014 |ARMATURE 120V 60HZ FEM4070 $196.92
407.05.016 |STATOR CPL F4070 120V $148.54
407.05.020 |MOTOR COVER F4070 $40.51
407.05.021 |SPEED CONTROL KNOB F4070 $6.87
407.44.017 |LOWER SHAFT HC F430PP/PVDF $162.77
410.02.009 |BEARING BRACKET F408/410 MOTOR $55.65
410.02.011 |VENTILATOR PA F408/F410EX $19.64
410.02.012 |HOUSING FLANGE F410EX $70.78
410.02.040 |CABLE ENTRY PA F408/F450 $11.53
410.02.057 |GROUND SCREW CPL $11.71
410.02.065 |GRIP JAW PA F408/410/448/450EX $9.24
410.02.201 |STATOR 115V/60HZ (UL) F410EX $245.24
410.02.203 |STATOR COATED F408/410EX 115 $232.92
410.02.226 |POWER CORD F410EX/450EX $51.43
410.02.288 |POWER SUPPLY CABLE W/ GROUNDED $54.14
410.14.026 |LOWER SHAFT D=6 X 115 F420S $60.22
410.14.028 |COUPLING STAR PA $4.33
414.02.100 |GEAR PLANETARY CPL F414 $1,051.00
415.02.017 |ROTOR SL PLATE F416/416-1 AIR $16.26
415.02.018 |STATOR F416/416-1 AIR MOTOR $543.64
415.02.019 |DISTANCE RING F416/416-1 AIR M $19.08
415.02.020 |[FRONT PLATE F416/416-1 AIR MOT $95.09
415.02.022 |FLANGE F416 AIR MOTOR $181.61
416.00.014 |ROTOR W/ LOCKING SCREW F416/ $265.95
416.00.018 |REAR END PLATE CPL F416/416-1 $141.67
416.00.019 |[MOTOR SET CPL F416EX/416-1EX $665.79
416.00.021 |HOUSING F416-1EX/F416-2EX $155.78
416.00.024 |THREADED RING F416EX AIR MOTOR $20.48
416.00.033 |SILENCER F416EX/F416-1EX/2EX $53.67
416.00.101 |HOUSING CPL F416EX AIR MOTOR $660.61
416.00.104 |[LOCKING PIN F416 AIR MOTOR $28.98
416.00.108 |SWITCH TRIGGER F416 AIR MOTOR $21.29
416.00.109 |VALVE BOLT F416 AIR MOTOR $29.66
416.00.111 |THREADED NIPPLE F416 AIR MOTOR $23.91
416.0R.001 |F416 MOTOR REPAIR $173.00
417.02.005 |BEARING BRACKET AL F417 MOTOR $45.74
417.02.006 |[DRIVER PA F417 MOTOR $9.29
417.02.007 |FILTER COTTON F417 MOTOR $13.62
417.02.011 |HANDLE COVER PP F417 RED $11.48
417.02.024 |VENTILATOR PA F417 MOTOR $5.75
417.02.026 [MOTOR HOUSING PP F417 MOTOR $63.47
417.02.046 |VENTILATOR WASHER PA F417 MOTO $5.80
417.02.051 |CARB BRUSH HOLDER CPL F417 $26.11
417.02.052 |BEARING FLANGE CPL F417 MOTOR $104.54
417.02.056 |GOVERNOR PS F417EL $16.28
417.02.057 |RECEPTION PIECE (PS) F417EL $15.98
FLUX Pumps Corporation vl.l
300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 3



F.0.B ATLANTA 2018 Parts Price List @

417.02.062 |SWITCH MECHANISM F417 TRIP CAM $17.06
417.02.065 |BUSHING F417 BEARING PLATE $8.73

417.02.068 |[COVER PP W/SUSPEN LOOP F417 $27.96
417.02.601 |STATOR CPL 115V 60HZ (CSA) $97.22
417.02.602 |ARMATURE 115V 60HZ (CSA) F417 $264.26
417.02.604 |POWER SUPPLY CABLE W/PLUG $39.56
420.14.612 |IMPELLER ETFE D=46 F424S 50/46 $66.51
420.24.020 |UPPER SHAFT F420S/HC 27" $52.33
420.24.022 |UPPER SHAFT F420S/HC 47" $59.76
420.24.023 |COUPLING CAGE PA F55G $26.06
420.24.024 |{IMPELLER PP D=38 $24.70
420.24.099 |UPPER SHAFT F420S 55" $78.15
420.24.104 |UPPER SHAFT F420S 75" $87.49
420.24.284 |IMPELLER S D=38 F425S $309.43
420.24.296 [IMPELLER ETFE D=38 AXIAL $55.31
420.24.297 |[IMPELLER ETFE D=34 AXIAL $56.27
420.24.298 [IMPELLER ETFE D=36 AXIAL $55.31
420.51.247 |SHAFT S D=6 27" F424/430S $87.49
420.51.250 |SHAFT S D=6 39" F424/430S $106.28
420.51.251 |SHAFT S D=6 43" F425/426S 39" $89.80
420.51.252 |SHAFT S D=6 47" F424/430S $118.44
420.51.253 |SHAFT S D=6 51" F425/426S 47" $116.31
420.51.254 |SHAFT S D=6 55" F424/430S $106.05
420.51.255 |SHAFT S D=6 60" F424/430S $109.65
420.51.256 |SHAFT S D=6 63" F424/430S 63" $154.05
420.51.275 |COUPLING CAGE PA F430 ALL MOD $31.51
420.51.282 |CENTERING STAR ETFE F430S 41/ $42.09
422.24.036 |COUPLING CAGE F420PP/PVDF $29.94
423.21.310 |SHAFT S 39" F423S $39.66
424.21.026 |FOOT PIECE F424S 43/38 $93.61
424.21.029 |CENTERING STAR ETFE F424S 50/ $64.37
424.21.030 |[BEARING HOUSING ETFE F424S 43/ $72.81
424.21.033 |BEARING HOUSING ETFE F424S 50/ $83.99
424.21.035 |FOOT PIECE F424S 50/45Z $110.28
424.21.040 |BEARING HOUSING ETFE/PTFE F424 $68.96
424.21.110 |OUTER TUBE F424S 43MM 39" $478.77
424.21.331 |CENTERING STAR ETFE F424S 43/ $55.31
424.21.600 [INNER TUBE S F424S 50/45Z 39" $674.00
424.21.607 |INNER TUBE F424S-43/ - 700(27" $508.76
424.21.610 |[INNER TUBE S F424S 43/38 39" $646.99
424.21.612 |INNER TUBE S F424S 43/38 47" $691.99
424.21.615 |[INNER TUBE S F424S 43/38 39" $608.57
424.21.710 |INNER TUBE CPL F424S 43/38 39" $776.39
424.25.612 |INNER TUBE CPL FP 424 EX S 47" $702.27
424.2R.001 |FP424EXS 43/38 43/37Z REPAIR $220.00
424.2R.002 |FP424EXS 50/45Z 50/46 REPAIR $241.00
424.2R.003 |F424S 43/38 43/37Z REPAIR $228.00

FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 4



F.0.B ATLANTA 2018 Parts Price List @

424.2R.004 |F424S 50/45Z 50/46 REPAIR $248.00
424.41.031 |BEARING HOUSING PP F424PP 41/ $38.94
424.41.032 |FOOT PIECE F424PP 41/36 $23.24
424.41.033 |FOOT PIECE F424PP 41/35Z $31.51
424.41.034 |IMPELLER ETFE D=35 $57.79
424.41.036 |T-PIECE F424PP 50/38 & 50/43Z $120.52
424.41.038 |BEARING HOUSING PP F424PP 50/ $44.91
424.41.039 |FOOT PIECE F424PP 50/38 $81.35
424.41.040 |BEARING HOUSING PP/PTFE F424PP $46.86
424.41.130 |OUTER TUBE F424PT 50/38 39" $120.52
424.41.132 |OUTER TUBE F424PT 50/38 47" $241.12
424.41.135 |OUTER TUBE F424PT 50/38 60" $241.02
424.41.232 |COUPLING CAGE PA F424/F427 $31.53
424.41.234 |CENTERING STAR PP F424PP 41/36 $34.22
424.41.236 |GUIDE BEARING F424S/PP/PVDF 39 $45.24
424.41.237 |GUIDE BEARING F424S/PP/PVDF 47 $55.65
424.41.238 |COUPLING CAGE CPL F424S/PP $87.89
424.41.239 |GUIDE BEARING F424S/PP/PVDF 27 $40.17
424.41.240 |GUIDE BEARING F424S/PP/PVDF 60 $73.36
424.41.241 |GUIDE BEARING F424PP/ 39 $54.69
424.41.507 |SHAFT 27" HC 700MM $254.80
424.41.510 |SHAFT D=6 39" HC F424PP/PVDF $254.80
424.41.512 |SHAFT D=6 47" HC F424PP/PVDF $296.05
424.41.515 |SHAFT D=6 60" HC F424PP/PVDF $390.35
424.41.610 |OUTER TUBE F424PP 41/36/35Z 39 $77.03
424.41.612 |OUTER TUBE F424PP 41/36/35Z 47 $81.19
424.41.615 |OUTER TUBE F424PP 41/36/35Z 60 $85.70
424.41.707 |[INNER TUBE W/BEARING F424PP 27 $197.14
424.41.710 |INNER TUBE W/BEARING F424PP 39 $197.14
424.41.712 |INNER TUBE W/BEARING F424PP 47 $200.46
424.41.715 |INNER TUBE W/BEARING F424PP $218.06
424.4R.001 |F424PP 41/36 REPAIR $218.00
424 4R.002 |F424PP 41/35Z REPAIR $225.00
424.4R.003 |F424PP 50/38 50/43Z REPAIR $203.00
424.61.031 |BEARING HOUSING PVDF F424 41MM $52.05
424.61.032 |FOOT PIECE F424PVDF 41/36 $47.93
424.61.033 |FOOT PIECE F424PVDF 41/35Z $47.93
424.61.036 |T-PIECE F424PVDF 50/38 $241.02
424.61.037 |CENTERING STAR PP/PVDF F424 50 $63.01
424.61.038 |BEARING HOUSING PVDF/CARB 50MM $58.07
424.61.039 |FOOT PIECE F424PVDF 50/38 $110.28
424.61.040 |[BEARING HOUSING PVDF/ETFE 41MM $62.85
424.61.130 |OUTER TUBE F424PVDF 50MM 39" $315.06
424.61.234 |CENTERING STAR PVDF F424 41/36 $56.27
424.61.610 |OUTER TUBE F424PVDF 41/36 39" $221.61
424.61.612 |OUTER TUBE F424PVDF 41/36 47" $296.00
424.61.615 |OUTER TUBE F424PVDF 41/36 60" $434.41
FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 5



F.0.B ATLANTA 2018 Parts Price List @

424.61.710 [INNER TUBE W/BEARING F424PVDF $390.68
424.61.712 |INNER TUBE W/BEARING F424PVDF $322.04
424.61.715 |[INNER TUBE W/BEARING F424PVDF $431.80
424 6R.001 |F424PVDF 41/36 REPAIR $270.00
424.6R.002 |F424PVDF 41/35Z REPAIR $270.00
424.6R.003 |F424PVDF 50/38 50/43Z REPAIR $233.00
425.21.155 |FLOWBACK STOP VALVE F425S $53.46
425.21.158 |ROTOR Z ETFE 33MM $56.49
425.21.164 |[IMPELLER ETFE D=34 SEMI-AXIAL $57.06
425.21.166 |FLOWBACK STOP VALVE "Z" STYLE $389.60
425.21.167 |T-PIECE CPL F425S 2ND DESIGN $359.06
425.21.168 |VANE F425S 2ND DESIGN $39.61
425.21.171 |GROOVE LOCK F425S 2ND DESIGN $21.33
425.21.211 |INNER TUBE CPL F425S 41/34 39" $692.23
425.21.213 |INNER TUBE CPL F425S 41/34 47" $754.84
425.21.361 |OUTER TUBE F425S 41/34 39" $478.21
425.21.362 |OUTER TUBE F425S 47" $495.09
425.21.611 |INNER TUBE S F425S 39" $551.89
425.21.613 |INNER TUBE S F425S 47" $601.98
425.21.800 |WASHER F425S $14.01
425.21.801 |HANDLE W/ TOOL F425S $40.17
425.21.802 |ADJUSTING LEVER F425S $40.17
425.21.804 |GROOVE LOCK F425S $14.74
425.21.805 |SAFETY CATCH F425S $18.58
425.22.000 |COUPLING CAGE CPL F425/F426 $52.44
425.25.167 |T PIECE COMPLETE FP425S $665.86
425.25.361 |OUTER TUBE FP425EXS 39" $457.11
425.2R.001 |FP425EXS 41/34 27" REPAIR $191.00
425.2R.002 |FP425EXS 41/34 39" REPAIR $204.00
425.2R.003 |FP425EXS 41/34 47" REPAIR $211.00
425.41.151 |INNER TUBE CPL PP F425PP 39" $921.60
425.41.250 |T-PIECE PP F425PP $90.87
425.41.252 |GROOVE LOCK F425PP $14.74
425.41.253 |GUARD PLATE T-PIECE F425PP $9.00

425.41.254 |HANDLE W/ TOOL F425PP $40.17
425.41.255 |SAFETY CATCH F425PP $22.40
425.4R.001 |F425PP 50/34 27" REPAIR $241.00
425.4R.002 |F425PP 50/34 39" REPAIR $254.00
425.4R.003 |F425PP 50/34 47" REPAIR $261.00
425.4R.004 |F425PP 50/34 27" REPAIR $241.00
425.4R.005 |F425PP 50/34 39" REPAIR $254.00
425.4R.006 |F425PP 50/34 47" REPAIR $261.00
425.61.256 |FOOT PIECE PVDF F425PP 50/34 $56.16
426.21.010 |SEALING PIECE ETFE $177.66
426.21.018 |T-PIECE F425S 1ST DESIGN F426S $468.81
426.2R.001 |F426S 41/38 39" REPAIR $224.00
426.2R.002 |F426S 41/38 47" REPAIR $232.00

FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 6



F.0.B ATLANTA 2018 Parts Price List @

426.2R.003 |F426S 41/38 60" REPAIR $244.00
426.4R.001 |F426PP 50/33 39" REPAIR $254.00
426.4R.002 |F426PP 50/33 47" REPAIR $261.00
427.21.001 |FOOT PIECE F427S3 43/38 $131.32
427.21.010 |BEARING HOUSING PTFE F427 $250.00
427.21.012 |SLIDE BEARING PTFE F427S $61.49
427.21.024 |INNER TUBE F427S3A 41/38 39" $693.70
427.21.025 |INNER TUBE F427S3A 41/38 47" $909.10
427.21.031 |FOOT PIECE F427S3A 43/38 $494.08
427.21.033 |BEARING HOUSING PTFE F427S3A $132.73
427.21.048 |COUPLING CAGE CPL F427S $127.55
427.21.051 |OUTER TUBE F427S5 43/38 39" $581.20
427.2R.001 |F427S3A & S5 43/38 27" REPAIR $413.00
427.2R.002 |F427S3A & S5 43/38 39" REPAIR $467.00
427.2R.003 |F427S3A & S5 43/38 47" REPAIR $521.00
430.11.110 |OUTER TUBE F430AL 41/38 39" $182.28
430.21.112 |OUTER TUBE F430S 41MM 47" $422.72
430.21.201 |CENTERING STAR F430S 50/45Z $20.15
430.21.400 |PRESSURE RING ETFE F430AL $30.62
430.21.401 |[IMPELLER ETFE F424S 50/45Z $69.21
430.21.431 |IMPELLER ETFE D=37 F430S/F424S $56.49
430.21.512 |OUTER TUBE F430S FOOD 1200MM $422.72
430.2R.001 |F430S 41/38 27" REPAIR $188.00
430.2R.002 |F430S 41/38 39" REPAIR $201.00
430.2R.003 |F430S 41/38 47" REPAIR $207.00
430.2R.004 |F430S 41/37Z 27" REPAIR $188.00
430.2R.005 |F430S 41/37Z 39" REPAIR $201.00
430.2R.006 |F430S 41/37Z 47" REPAIR $207.00
430.2R.007 |F430S 50/38 27" REPAIR $188.00
430.2R.008 |F430S 50/38 39" REPAIR $201.00
430.2R.009 |F430S 50/38 47" REPAIR $207.00
430.2R.010 |F430S 50/45Z 27" REPAIR $199.00
430.2R.011 |F430S 50/45Z 39" REPAIR $211.00
430.2R.012 |F430S 50/45Z 47" REPAIR $217.00
430.2R.013 |F430S 41/38 60" REPAIR $213.00
430.41.198 |FOOT PIECE F430PP 40/33 $32.19
430.41.199 |FOOT PIECE F430PP 40/33Z $29.37
430.41.200 |FOOT PIECE F430PP 50/43Z $63.87
430.41.201 |ADAPTER F430PP 50/43Z $69.04
430.41.291 |FOOT PIECE F430PP 50/38 $60.37
430.41.300 |IMPELLER ETFE D=33 $56.49
430.41.301 |IMPELLER ETFE D=43 Z STYLE $69.21
430.41.310 |UPPER SHAFT F430/PP/PVDF 39" $37.86
430.41.315 |UPPER SHAFT F430PP/PVDF 60" $45.13
430.41.330 |UPPER SHAFT F430PP/PVDF 118" $120.98
430.41.331 |LOWER SHAFT HC F430S/PP/PVDF $204.11
430.41.333 |LOWER SHAFT HFS PLASMA COATED $516.69
FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 7



F.0.B ATLANTA 2018 Parts Price List @

430.41.352 |OUTER TUBE F430PP 40/33 47" $75.02
430.4R.001 |FA30PP 40/33 27" REPAIR $191.00
430.4R.002 |F430PP 40/33 39" REPAIR $206.00
430.4R.003 |F4A30PP 40/33 47" REPAIR $213.00
430.4R.004 |F4A30PP 40/33Z 27" REPAIR $191.00
430.4R.005 |F430PP 40/33Z 39" REPAIR $206.00
430.4R.006 |F430PP 40/33Z 47" REPAIR $213.00
430.4R.007 |F4A30PP 50/38 27" REPAIR $191.00
430.4R.008 |F430PP 50/38 39" REPAIR $206.00
430.4R.009 |F430PP 50/38 47" REPAIR $213.00
430.4R.010 |F430PP 50/43Z 27" REPAIR $191.00
430.4R.011 |F430PP 50/43Z 39" REPAIR $206.00
430.4R.012 |F4A30PP 50/43Z 47" REPAIR $213.00
430.61.198 |FOOT PIECE F430PVDF 40/33 $41.13
430.61.199 |FOOT PIECE F430PVDF 40/33Z $40.73
430.61.200 |FOOT PIECE F430PVDF 50/43Z $110.28
430.61.201 |ADAPTER F430PVDF 50/43Z $130.93
430.61.291 |FOOT PIECE F430PVDF 50/38 $96.49
430.6R.001 |F430PVDF 40/33 27" REPAIR $209.00
430.6R.002 |F430PVDF 40/33 39" REPAIR $223.00
430.6R.003 |F430PVDF 40/33 47" REPAIR $232.00
430.6R.004 |F430PVDF 40/33Z 27" REPAIR $209.00
430.6R.005 |F430PVDF 40/33Z 39" REPAIR $223.00
430.6R.006 |F430PVDF 40/33Z 47" REPAIR $232.00
430.6R.007 |FA30PVDF 50/38 27" REPAIR $209.00
430.6R.008 |F430PVDF 50/38 39" REPAIR $223.00
430.6R.009 |FA30PVDF 50/38 47" REPAIR $232.00
430.6R.010 |F430PVDF 50/43Z 27" REPAIR $209.00
430.6R.011 |FA30PVDF 50/43Z 39" REPAIR $223.00
430.6R.012 |F430PVDF 50/43Z 47" REPAIR $232.00
430.90.038 |INNER TUBE $357.88
430.90.257 |[INNER TUBE CPL F430S 41/38 $764.70
430.90.261 |INNER TUBE F430S 41/50 47" $723.35
430.90.293 |[INNER TUBE F430S 41/1000MM $702.27
430.90.668 |INNER TUBE CPL F430PP 40/33 $534.77
430.91.086 |OUTER TUBE F430PVDF 40/33 39" $262.50
430.91.143 |OUTER TUBE F430PP 50/38 39" $191.30
430.91.315 [INNER TUBE CPL FP430EXS 41/38 $1,088.24
450.02.005 |VENT BLADE F448/450 MOTOR FA $14.00
450.02.010 |DRIVER AL RT-HANDED THREAD $8.67
457.02.000 |[MOTOR HOUSING PP F457 $90.69
457.02.001 |HANDLE PP F457 MOTOR $42.68
457.02.002 |HANDLE COVER PP F457 $18.80
457.02.003 |TOP COVER PP F457 MOTOR $41.18
457.02.005 |FLANGE F457 MOTOR $59.46
457.02.008 [DRIVER PA F457 MOTOR $21.55
457.02.011 |FAN F457 MOTOR $12.60
FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 8



F.0.B ATLANTA 2018 Parts Price List @

457.02.013 |STRAIN REL CLAMP PA F457 MOTOR $17.14
457.02.014 |CABLE ENTRY POM F457 MOTOR $15.13
457.02.015 |COVER CABLE ENTRY POM F457 $11.77
457.02.016 |GOVERNOR F457EL MOTOR $18.80
457.02.017 |RECEPTION PIECE F457 MOTOR $12.28
457.02.018 |HANDLE PP F457EL MOTOR $42.20
457.02.021 |ARMATURE 230V 50HZ F457 $261.48
457.02.023 |ARMATURE 120V 60HZ F457 $235.45
457.02.028 |POWER SUPPLY CABLE 120V F457 $57.28
457.02.030 |STATOR 120V 60 HZ F457 $257.90
457.02.034 |BEARING BUSH DESMOPAN F457 MOT $15.88
457.02.041 |SWITCH MECHANISM F457 MOTOR $26.29
457.02.044 |BEARING BUSH TPU F457 MOTOR $5.07

457.02.045 |BEARING BRACKET $30.70
458.05.008 |[HOUSING LOWER PART CPL F458 $340.78
458.05.011 |INSULATING BUSH F458/458-1 $39.29
460.05.001 |BEARING BRACKET F458/-1/460/-1 $57.11
460.05.003 |HOUSING FLANGE F458/460-1 $96.32
460.05.004 |VENTILATOR WASHER F458-F460-1 $14.36
460.05.007 |VENTILATOR F458-F460-1EX $20.48
460.05.009 |COVER PA F458/460-1 MOTOR $15.30
460.05.010 |DRIVER F458/460-1 MOTOR $16.88
460.05.017 |STATOR CPL 230V50HZ F458/F460 $172.67
460.05.018 [SWITCH KNOB F458/F460-1 MOTOR $10.07
460.05.023 |PRESSURE PIECE F458 POWER CA $7.61

460.05.024 |PRESSURE BRACKET F458 POWER $3.76

460.05.025 |CABLE ENTRY PA F458-460-1 $13.34
460.05.026 |HANDLE F458-460-1 MOTOR $48.38
460.05.041 |[HOUSING LOWER MOTOR F460 EX $348.82
460.05.042 |HOUSING CASING CP MOTOR F460EX $530.65
460.05.044 |INSULATING BUSH F460/460-1EX $85.70
460.05.046 |ARMATURE CPL 230V 50HZ F458 $274.27
460.05.047 |ARMATURE 110V 50HZ F458/F460EX $303.70
460.05.050 |ARMATURE 230V F458-1/F460-1 $443.05
460.05.051 |ARMATURE 110V F458-1/F460-1EX $403.75
460.05.053 |STATOR F458/F460EX 120V $207.89
460.05.054 |STATOR F458-1/F460-1EX 120V $250.19
460.05.055 |SWITCH FIXING PA F458 $14.07
460.05.060 |ADJUSTING ARBOR CPL F458/460EL $30.78
460.05.061 |TRIP CAM F458EL $29.10
460.05.063 |SWITCH KNOB F458/F458-1EL $11.77
460.05.064 |GOVERNOR F458/F458-1EL MOTOR $8.84

460.05.066 |STATOR 230V FA58EL/FA60EXEL $274.26
520.14.001 |BEARING FLANGE AL CLOSED F520 $188.36
520.14.115 |COUPLING MOTORSIDE G22B AIR $110.28
520.24.087 |WORM PTFE F520S3A $462.74
520.24.088 |NUT ROTARY SCREW F520SA 50/45 $273.10

FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 9



F.0.B ATLANTA

2018 Parts Price List

520.24.089 |BEARING FOOT PIECE S F520S3A $188.31
520.24.090 |FOOT PIECE F520S3A LESS BEARIN $124.57
520.24.091 |UPPER SHAFT F520S3A SANITARY $399.67
550.14.002 |COUPLING PUMPSIDE UNPAINTED $94.79
550.14.017 |STATOR CASING F550S 55MM $527.95
550.14.020 |ECCENTRIC WORM S 21MM F550S $466.00
550.14.031 |[ECCENTRIC WORM S 26MM F550S $475.00
550.14.242 |ECCENTRIC WORM D=26 HD $594.00
550.14.243 |COUPLING PUMPSIDE F550S $94.79
550.14.244 |BEARING FLANGE AL F550S 50/21 $450.08
550.14.245 |ECCENTRIC WORM D=26 PLATED $475.41
550.20.508 |STATOR NBR LOW FLOW $1,071.62
550.20.518 |[ROTOR LOW FLOW 316S $605.47
550.24.013 |STATOR PTFE 55MM X 21MM F550S $485.91
550.24.200 |PLANETARY GEAR I=15,9 $1,293.98
550.24.210 |OUTER TUBE F550S 50/21 39" $663.87
550.24.218 |STOP WASHER - F55/56GS GEAR $20.48
550.24.219 |PINION F55G GEAR ASSEMBLY $126.47
550.24.220 |STOP WASHER GEAR UNIT $6.42
550.24.222 |PINION CAGE F55/56GS GS GEAR $348.19
550.24.223 |GEAR WHEEL F55/56GS GEAR $49.79
550.24.225 |BEARING BOLT F55GS GEAR HEAD $4.18
550.24.227 |PINION CAGE GEAR LOWER F55/56 $486.66
550.24.228 |GEAR WHEEL F55/56GS GEAR HEAD $41.47
550.24.231 |INTERM SHAFT S $48.22
550.24.234 |RECEPTION PIECE F55GS GEAR HEA $127.05
550.24.238 |COUPLING SHAFT UPPER F55/560GS $27.74
550.24.241 |STATOR HOUSING TRAPEZE THREAD $152.86
550.24.244s |STATOR BUNA BLACK F55 G/550 S $487.78
550.24.247 |STATOR FKM F550S/F55GS 50/21 $530.66
550.24.248 |STATOR NBR WHITE 50/21 $487.59
550.24.256 |STATOR CPL PTFE W/HOUSING $633.31
550.24.271 |STATOR PTFE 50/21 W/O HOUSING $487.59
550.24.302 |DISTANCE RING F500 SERIES 2 PC $74.83
550.24.307 |TORSION SHAFT F550S/F55GS 27" $270.78
550.24.310 |TORSION SHAFT S F550S/F55GS 27 $271.12
550.24.312 |[TORSION SHAFT S F550 47" $217.56
550.24.320 |DISTANCE RING F500 SERIES $42.88
550.24.349 |CENTERING FLANGE F550S/F560S $152.86
550.24.356 |FLANGE ASSEMBLY F550 "SB" $1,298.80
550.24.357 |FLANGE ASSEMBLY F550GSB-50/21 $2,599.96
550.24.362 |CENTERING DISC F550S/GS 50/21 $198.21
550.24.364 |PLANETARY GEAR PRE-ASSEM F55GS $2,207.86
550.24.367 |FLEXIBLE SHAFT F550 16" $701.28
550.24.470 |TORSION SHAFT S F550S/F55GS 39 $271.12
550.24.569 |DRIVE SHAFT 75" $760.85
550.25.541 |UPPER SHAFT D=20 X 120 F550S $192.84

FLUX Pumps Corporation

300 Townpark Drive, Ste 110, Kennesaw, GA 30144

1-800-367-3589

www.fluxpumpsusa.com

aoR

vl.l
10



F.0.B ATLANTA

2018 Parts Price List

550.25.546 |STATOR FKM D=54/26 $589.39
550.25.619 |STATOR FKM D=54/26 $611.07
550.25.620 |STATOR NBR BLACK D=54/26 $514.58
550.25.621 |STATOR BUNA WHITE 54/26MM $514.58
550.25.624 |STATOR HOUSING PTFE 54/26 $189.89
550.25.625 |STATOR PTFE 54MM W/HOUSING F5 $632.25
550.25.626 |SANI STATOR PTFE 54/26 F560 $578.91
550.25.643 |OUTER TUBE F550S 54/26 39" $727.49
560.21.900 |STATOR CPL PTFE NOT 3A $616.19
560.23.900 |SANI STATOR W/HOUSING NOT 3A $659.05
560.23.901 |SANI STATOR CPL PTFE 54/26 $688.29
560.23.905 |STATOR W/ HOUSING NBR 54/26 $943.03
560.28.000 |BEARING FLANGE ASY CPL F560S3A $1,570.99
560.28.001 |PLANETARY GEAR F560GS3A 50/21 $2,222.00
560.28.006 |SEALING KIT W/O-RING FPM $379.24
560.28.008 |CENTERING DISC F560S/GS3A 50/2 $275.01
560.28.009 |CENTERING DISC F560S/GS3A 54/2 $293.40
560.28.010 |CENTERING DISC F560S/GS 54/26 $293.40
560.28.014 |COUPLING PUMPSIDE F560S SANITA $199.00
560.28.016 |INTERM SHAFT S F560GS SANITARY $145.15
560.28.019 |UPPER SHAFT F560S $361.02
560.28.020 |BEARING FLANGE F560S/F520S SAN $552.93
560.28.038 |PROTECTION SLEEVE-2ND DESIGN $123.78
560.28.039 |COUPLING MOTORSIDE SANITARY $91.09
560.28.048 |COUPLING PUMPSIDE UNPAINTED $199.00
560.28.058 |OUTER TUBE F560S3 50/21-1200 $988.38
560.28.060 |SANI OUTER TUBE F560S3A 50/21 $1,761.54
560.28.061 |SANI OUTER TUBE F560S3A 50/21 $1,761.54
560.28.062 |SANI OUTER TUBE F560S3A 50/21 $2,076.64
560.28.064 |SANI ECC WORM F560S/GS3A $537.51
560.28.066 |SANI ECC WORM F560S/GS3A $573.95
560.28.067 |STATOR HOUSING F560S/GS 50/21 $455.00
560.28.069 |STATOR HOUSING F560S/GS 54/26 $542.63
560.28.073 |SANI TORSION SHAFT 27" F560 $400.79
560.28.074 |SANI TORSION SHAFT 39" F560 $400.79
560.28.075 |SANI TORSION SHAFT 47" F560 $406.98
560.28.112 |OUTER TUBE S3 ELEC POLISH 47" $1,005.79
560.28.114 |SANI OUTER TUBE F560S/GS3A 54 $1,393.10
560.28.115 |SANI OUTER TUBE F560S3A 54/26 $1,829.12
560.28.118 |WRENCH KIT 3 PCS F560S/GS $69.66
560.28.133 |[HOOK WRENCH F520S/F560S/GS SAN $25.33
560.28.137 |STATOR HOUSING F560GS FP-1 $925.42
560.28.140 |RECEPTION PIECE-2ND SERIES F56 $163.16
560.28.149 |STATOR HOUSING S D=54 2" TRI $634.40
560.28.184 |SANI STATOR HOUSING F560S/GS3A $813.92
560.28.187 |SANI STATOR PTFE F560S/GS3A $522.10
560.28.188 |SANI STATOR HOUSING F560S/GS3A $714.17

FLUX Pumps Corporation

300 Townpark Drive, Ste 110, Kennesaw, GA 30144

1-800-367-3589

www.fluxpumpsusa.com

aoR

vl.l
11



F.0.B ATLANTA

2018 Parts Price List

560.28.191 |SANI STATOR PTFE F560S/GS3A $444.45
560.28.203 |STATOR HOUSING 50/21 CUSTOM $1,310.86
560.28.204 |OUTER TUBE SPEC NEUTROGENA 47" $2,303.97
560.28.210 |SANI STATOR HOUSING 54/26 3A $731.39
560.28.242 |SEAL KIT F560 S-L/R FOOD FKM $884.09
560.28.251 |SHAFT F560 CARDAN 27" PUMP $742.48
560.28.252 |SHAFT F560 CARDAN 39" PUMP $742.48
560.28.253 |SHAFT F560 CARDAN 47"(1200) $742.47
560.28.258 |STATOR NBR 54/26MM FDA APPROV $493.68
560.28.259 |STATOR PTFE 54/26 FDA APP $473.85
560.28.260 |STATOR W/O HOUSING PTFE FDA $522.10
560.28.280 |STATOR HOUSING FDA APPROV $473.66
560.28.281 |STATOR HOUSING - FOOD 54MM $487.59
560.28.282 |STATOR HOUSING 54MM TR $634.40
600.210.006 |O-RING F55GS/F560GS GEAR ASSEM $3.83
620.14.002 |COUPLING MOTORSIDE 24MM BORE $69.76
620.14.003 |COUPLING PUMPSIDE F500 SERIES $85.92
620.14.004 |COUPLING INSERT "SPIDER" F500 $13.94
630.40.430 |IMPELLER CAP PP F630 $30.47
630.40.476 |COUPLING MOTORSIDE 1/2" BORE $172.16
640.45.001 |BEARING HOUSING CPL PP F640 $563.97
640.45.245 |CLAMPING RING $26.73
640.45.302 |COUPLING PUMPSIDE F640 $64.49
640.45.485 |PROTECTION TUBE F640PP 2500 $768.20
640.45.542 |BEARING FLANGE AL CLOSED F640 $809.15
640.45.548 |IMPELLER S 157MM F640 $573.32
640.45.575 |OUTER TUBE $2,246.92
700.40.951 |COUPLING PUMPSIDE PAINTED $121.08
700.41.276 |IMPELLER PP D=130 $515.45
706.45.077 |COVER PP F640 $152.18
706.45.086 |COVER W/ STRAINER PP F640PP $273.26
716.45.036 |PUMP HOUSING F716 PP1 185/300 $1,347.32
716.45.116 |CIRCLIP PP $128.07
716.45.208 |COVER PP W/SUCTION STRAINER $299.22
716.45.219 |COVER PP W/STRAINER 230MM $353.99
900.42.012 |CYL SCREW W/SLOT M 3 X 10 $1.13
900.42.017 |CYL SCREW SPEED KNOB EL $1.52
900.61.001 |HEX SCREW W/SLOT M 4 X 12 $1.36
900.64.001 |COUNTERSUNK SCREW M 4 X 16 $1.36
900.65.010 |[HEX CAP SCREW M 4 X 16 $2.43
900.67.001 |THREADED PIN W/HEXREC M4 X 8 $1.36
900.67.002 |THREADED PIN W/CUP PTM 4 X 6 $1.08
900.74.002 |COUNTERSUNK SCREW M 5 X 40 $1.41
900.75.006 |CYL SCREW W/HEX REC M 5 X 20 $1.58
900.75.008 |CYL SCREW W/HEXREC M5 X 14 $1.08
900.75.011 |CYL SCREW W/HEX REC M5 X 20 $1.31
900.75.018 |CYL SCREW W/HEXREC M5 X 8 $1.13

FLUX Pumps Corporation

300 Townpark Drive, Ste 110, Kennesaw, GA 30144

1-800-367-3589

www.fluxpumpsusa.com

aoR

vl.l
12



F.0.B ATLANTA 2018 Parts Price List @

900.75.019 [BOLT $2.04
900.75.024 |CYL SCREW W/HEX REC M5 X 16 $1.70
900.75.025 |CYL SCREW W/HEX REC M 5 X 60 $1.13
900.75.026 |CYL SCREW W/HEX REC M5 X 6 $1.13
900.77.003 |THREADED PIN W/SLOT M5 X 6 $1.86
900.77.010 |THREADED PIN W/HEX REC M5 X 10 $1.92
900.79.002 |CYL SCREW $8.90
900.79.004 |TRIANGULAR SCREW M5 X 20 $3.55
900.79.007 |EARTHING SCREW M5 X 16 $6.58
900.79.011 |EARTHING SCREW $6.98
900.80.000 [HEX CAP SCREW M6 X 11 $6.47
900.81.010 |[HEX CAP SCREW M6 X 70 $3.32
900.85.003 |CYL SCREW W/HEX REC M 6 X 12 $3.50
900.85.004 |CYL SCREW W/HEX REC M 6 X 16 $0.82
900.85.017 |CYL SCREW W/HEX REC M 6 X 25 $4.26
900.85.025 |CYL SCREW W/ HEX REC M 6 X 50 $1.08
900.87.001 |THREADED PIN W/HEX REC M 6 X 8 $1.58
900.87.002 |THREADED PIN W/SLOT M 6 X 8 $3.05
900.91.003 [HEX CAP SCREW M 8 X 20 $5.31
900.91.004 |HEX CAP SCREW M 8 X 35 $1.58
900.91.019 [HEX CAP SCREW M 8 X 25 $4.11
900.97.006 |THREADED PINM 8 X 8 $1.41
901.59.000 |PRESSURE SCREW PA F458-460 $1.31
902.15.000 |OVAL-HEAD SCREW KA 30 X 10WN $0.45
902.15.001 |OVAL-HEAD SCREW KA 30 X 12WN $0.50
902.25.000 |OVAL-HEAD SCREW KA 35 X 20WN $1.13
902.25.001 |OVAL-HEAD SCREW 35 X 18 WN $1.13
902.25.003 |OVAL-HEAD SCREW KA 35 X 12WN $1.02
902.25.006 |EJOT-PT-SCREW KA 35 X 35/15 $1.24
902.55.000 |SCREW $1.13
902.55.001 |DIECAST SCREW D=4 X 65 $1.36
902.55.002 |OVAL-HEAD SCREW KA 40 X 14WN $1.24
902.55.004 |OVAL-HEAD SCREW KA 40 X 12WN $1.02
902.55.006 |OVAL-HEAD SCREW KA 40 X 16WN $1.13
902.55.007 |OVAL-HEAD SCREW M4 X 12 WN $1.31
902.55.008 |OVAL-HEAD SCREW M 4 X 18WN $1.13
902.55.010 |SCREW TORX -20-4,0 X 70 $1.13
902.65.004 |EJOT-PT SCREW DG 50 X 30ZWN $1.13
906.65.001 |HEXAGONAL NUT FLAT M 4 (ZINCED $1.24
906.66.003 [GROUNDING NUT $3.66
906.70.007 |CAP NUT M 5 (PP) HAND NOZZLE $8.73
906.71.004 [NUT $1.08
906.71.005 |HEXAGONAL NUT M 5 (ZINCED) $1.31
906.74.000 |CAP NUT M 5 (A4) $4.63
906.80.001 |CAP NUT M 6 (PVDF) $5.45
906.80.002 |CAP NUT M 6 (PP) $4.11
906.81.005 |HEXAGONAL NUT M 6 (A2) $1.24
FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 13



F.0.B ATLANTA 2018 Parts Price List @

906.84.010 |CAP NUT M6 A4 $1.18
906.91.004 |[HEXAGONAL NUT M 8 $1.16
906.91.008 |HEXAGONAL NUT M 8 (A2) $1.36
906.94.010 |CAP NUT M 8 (PVDF) $23.41
907.00.000 |[HEXAGONAL NUT M 10 $4.45
907.00.001 [HEXAGONAL NUT M 10 X 1 UL $1.08
907.01.002 |[HEXAGONAL NUT M 10 $2.79
907.04.002 |CAP NUT S M10X1 $10.30
907.10.001 |[HEXAGONAL NUT FLATM 12 X 1 $2.65
907.15.001 |[HEXAGONAL NUT FLATM 12 X 1 $7.26
907.90.001 |UNION NUT RD 65 X 1/6 $46.03
907.90.002 |UNION NUT G 1-1/4 $16.49
907.90.005 |UNION NUT G 2 (PVC) LIQ METER $36.41
907.90.009 [UNION NUT G 2 $36.30
907.90.010 |NUT G 1-1/4 (1.4571) $54.59
907.90.011 |[NUT RD 65 X 1/6 (V4A) $147.23
907.90.017 |UNION NUT G 2-1/4 (PVC) DEF $462.94
907.90.024 |UNION NUT G 1-1/4 (PP) $9.29
907.90.026 |UNION NUT G 1-1/4 (PVDF) $53.46
907.90.030 |UNION NUT G 1 (PP) F310/314 $4.71
907.90.056 |NUT RD 65 X 1/6 (V4A) F560S $123.05
907.90.065 |UNION NUT G 1-1/2 FEMALE $30.62
907.90.070 [UNION NUT RD 65 X 1/6 (PP) $28.70
907.90.071 |UNION NUT ( RED) RD65 X 1/6 PP $28.70
908.03.001 |WASHER D=3,2 F416 TRIGGER $0.67
908.03.004 |RETAINING WASHER D=3, 2/7 X0,6 $2.69
908.04.002 [LOWER PLATE WASHER $1.24
908.04.007 |RETAINING WASHER D=4/9 X 0,7 $40.19
908.04.009 |RETAINING WASHER F4000 $0.73
908.05.008 |ADJUSTING WASHER D=5/10 X 0,5 $1.08
908.06.011 |COMP WASHER D=6,5/15,5 X 0,5 $2.15
908.06.012 |COMP WASHER D=6,5/15,5 X 1,0 $2.15
908.06.013 |[WASHER D=6,4/12,5 X 1,6 $1.08
908.08.014 |WASHER D=8,4 (A4) $1.13
908.15.010 |DISTANCE WASHER D = 15.5/28X4 $18.59
908.15.012 |SPACER D=25/15 (1.4571) $45.86
908.80.002 |CLAMP STRAP SIZE 4/SW 8 $1.92
908.81.012 |SLEEVE F416 AIR MOTOR $36.30
908.81.021 [BUSHING PTFE $6.43
908.82.008 |PRESSURE RING, CABLE F458-460- $0.73
908.83.001 |RING F416 TRIGGER WASHER $1.13
908.83.019 |DISTANCE SLEEVE $3.05
908.85.015 |SLEEVE D=32/27 X 6 COND PTFE/ $6.71
908.85.019 |BUSHING PP $47.80
908.85.021 |SLEEVE PTFE/25% CARBON 23/28X5 $4.39
908.86.019 |SLEEVE D=32/34 X 5 PTFE/30% CA $5.01
908.86.024 |SLEEVE PTFE/25% CARBON 30.5/35 $6.43
FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 14



F.0.B ATLANTA 2018 Parts Price List @

909.40.001 |SPRING WASHER GR.3 ZINCED $1.08
909.65.001 |SPRING WASHER GR.4 ZINCED $0.73
909.70.001 |SPRING WASHER GR.5 ZINCED $0.73
909.73.002 |RETAINING DISC $0.45
909.80.001 |SPRING RING $1.08
909.85.004 |SPRING WASHER GR.6 A2 $0.55
909.95.001 |SPRING WASHER GR.8 ZINCED $0.58
909.95.002 |SPRING WASHER GR.8 A2 $1.36
910.11.001 [RETAINING WASHER NICKEL-PLATED $2.20
910.43.001 |CIRCLIP D=19 X 1 $1.08
912.19.002 |WELD ON GROUND LUG STAINLESS S $24.76
912.19.005 |BOLT F425S $7.43
914.45.001 |GROOVED PIN D=2 X 6 SANI/IND $1.49
914.47.000 |CLAMP PIN HEAVY D=2 X 20 F416/ $2.76
914.60.000 [FIXING PIN ETFE FMC METER $13.62
914.69.001 [PIN D=3 X 22 $2.48
914.72.002 |CYL PIN D=4 X 22 A4 $7.88
914.74.002 |GROOVED PIN D=4 X 20 F550/55G $7.88
914.74.005 |GROOVED PIN D=4 X 30 $8.61
914.74.007 |PIN HAND NOZZLE SAFTEY BAR $5.90
914.74.008 |GROOVED PIN COMBIFLUX $1.45
914.74.009 |GROOVED PIN D=4 X 26 A6 F550/ $7.88
914.83.002 [CYL PIN D=5 X 24 F520 PUMP SID $7.04
914.83.003 |GROOVED PIN D=5 X 40 $8.24
914.84.001 |PIN HNPP/HNPVDF HAND NOZZLE C $2.65
914.89.002 |CYL PIN D=5 X 32 PLAS HAND NOz $7.43
914.97.001 |[CLAMP PIN HEAVY D=6 X 40 F550S $1.31
916.10.001 |[NOTCHED NAIL D=1,6 X 4 $1.24
918.10.001 [CIRCLIP D=9 X 1 NICKEL-PLATED $0.58
918.10.008 |CIRCLIP D=12X 1 $0.58
918.39.001 |SET COLLAR W/ PIN D=15/25 $22.51
918.40.000 |CIRCLIP D=20 X 1,2 A2 F560S $3.11
918.42.001 |CIRCLIP D=24 X 1,2 (PHOSPHATIZ $1.52
918.72.002 |CIRCLIP D=47 X 1,75 $5.18
918.80.002 [CIRCLIP S FOR BARREL PUMPS $7.78
918.90.000 |CIRCLIP D=40/56X4.5 PP $31.74
919.50.008 |ADJUSTING SPRING 4X4X14 $1.47
920.51.004 |SLIDE BEARING D=6/13 X 12 $4.23
920.51.008 |SLIDE BEARING CARBON $59.36
920.51.010 |SUPPORT BEARING CPL W/ O-RING $8.16
920.51.012 |SUPPORT BEARING CPL W/ O-RING $7.26
920.51.013 |SLIDE BEARING D=6,05/15 X 10 $5.45
920.51.014 |SLIDE BEARING D=6,05/13 X 10 $5.85
920.51.024 |CARBON BUSHING FP424S $53.31
920.61.001 |SLIDE BEARING D=7/16 X 10 $4.18
920.61.003 |SUPPORT BEARING CPL F420S $10.26
920.81.001 |CYL BEARING D=8/12 X 8 $9.18
FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 15



F.0.B ATLANTA 2018 Parts Price List @

920.81.004 |BEARING BRONZE F520S $6.66
921.41.020 |SUPPORT BEARING CPL F630PP/ $27.88
921.80.003 |CYLINDRICAL BEARING-SIC $361.29
921.80.010 |CYL BEARING F706 PP/185 $466.86
921.80.014 |CYLINDRICAL BEARING-FLUOROSINT $457.78
922.00.000 |BALL BEARING D=4/16 X5 $36.44
923.99.000 |SPRAG CLUTCH D=20 X 47 X 14 $328.73
924.41.001 |BALL D=6 (304) HAND NOZZLE $4.34
924.61.001 |BALL D=10 $4.78
924.61.002 |BALL FOR FUME GLAND VALVE $13.17
925.00.000 |FLAT JOINT EPDM 38/31 X 1 $10.93
925.00.001 |SHAFT SEAL NBR D=5/16 X 7 $7.16
925.00.002 |SHAFT SEAL FKM D=4/11 X 5 $8.16
925.02.001 |RING FELT D=5,5/16 X 3 $1.36
925.03.002 [O-RING NBR D=1,5X 1 $3.55
925.09.017 |FLAT SEAL NEOPRENE D=5/16,5 X6 $1.08
925.09.019 |SEALING RING PTFE D=6/16 X 6 $17.96
925.09.021 |SEAL (PTFE) D =25/10.5X 4 $15.59
925.10.001 |SHAFT SEAL NBR D=6/16 X 7 $7.60
925.10.002 |SHAFT SEAL NBR D=7/16 X 7 $8.61
925.11.001 |SHAFT SEAL FKM D=6/16 X 7 $26.06
925.11.003 |SHAFT SEAL PTFE D=6/16 X 7 $89.11
925.11.007 |SHAFT SEAL EPDM D=6/16 X 7 $8.90
925.12.001 |RING FELT D=7/16 X 2 $2.82
925.13.001 |O-RINGNBRD =6 X2 $1.59
925.13.004 |O-RING NBR D=9 X 2,25 $2.15
925.13.005 |O-RING NBR D=9 X 3 F416 AIR $2.09
925.14.000 |FLAT SEAL FKM D=9/14 X1 F303 $5.07
925.15.001 [O-RING FKM D=6 X 2 $4.23
925.15.004 |O-RING FKM D=6 X 2,5 $4.51
925.15.005 [O-RING FFKM D=6 X 2 $87.89
925.15.007 |O-RING PTFE D=6 X 2 $18.68
925.15.008 |O-RING EPDM D=6 X 2 $5.85
925.15.012 |O-RING FKM D=7 X 2 $8.28
925.15.013 |O-RING EPDM D=7 X 2 $6.87
925.15.014 |O-RING EPDM D=6 X 2,5 $7.16
925.15.020 [O-RING FFKM D=6 X 2 FDA-APPRO $88.36
925.15.024 |O-RING FKM D=6 X 2 FDA/3A-APPR $16.14
925.16.006 [SLIDING RING CPL LENGTH=10 $18.46
925.17.001 |COUNTER RING CERAM D=6,5/16 X7 $20.37
925.19.003 |FLAT SEAL PTFE D=6, 5/19,5 $15.30
925.20.004 |SHAFT SEAL NBR D=12/19 X 5 $23.81
925.23.005 |O-RING NBR D=10 X 2 $4.11
925.23.006 [O-RING NBR D=14 X 2,5 $4.78
925.24.000 |FLAT SEAL KLINGERIT D=14/18 $1.41
925.24.003 |FLAT SEAL NEOPRENE PG 13,5 $0.80
925.25.001 |O-RING FKM D=12 X2 DIESEL FUEL $2.53
FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 16



F.0.B ATLANTA 2018 Parts Price List @

925.25.008 |O-RING FKM D=13 X 2,5 $4.73

925.25.009 |O-RING FFKM D=12 X 2 $164.40
925.25.011 |O-RING PTFE D=12 X 2 $20.37
925.25.015 |O-RING EPDM D=12 X 2 $7.16

925.25.017 |O-RING EPDM D=13 X 2,5 $10.07
925.25.019 [O-RING FKM D=14,5 X 3 $11.43
925.25.022 |O-RING EPDM D=14 X 3 HAND NOzzZ $11.53
925.25.032 |O-RING FFKM D=12 X 2 FDA-APPR $102.88
925.25.037 |O-RING FKM D=12X2 FDA/3A/CE-AP $17.63
925.30.001 |SHAFT SEAL NBR D=15/30 X 10 $17.71
925.30.005 |SHAFT SEAL NBR D=15/35 X 7 $19.03
925.31.002 |SHAFT SEAL FKM D=15/24 X 7 $41.80
925.33.001 |O-RING NBR D=19 X 3 $4.33

925.33.008 |O-RING NBR D=19 X 3 $13.89
925.35.001 [O-RING FKM D=19,2 X 3 $8.67

925.35.002 [O-RING FKM D=17,5X 2 $5.85

925.35.003 [O-RING FKM D=15 X 3,5 $5.84

925.35.005 |O-RING FEP D=19 X 3 $85.35
925.35.006 [O-RING FFKM D=15 X 3,5 $136.54
925.35.007 |O-RING FFKM D=19 X 3 $151.74
925.35.009 [O-RING FEP D=17,5 X 2 $109.85
925.35.011 |O-RING EPDM D=19 X 3 $10.93
925.35.012 |O-RING FEP D=15 X 3,5 $107.57
925.35.014 |O-RING EPDM D=17,5 X 2 $9.40

925.35.021 [O-RING EPDM D=15 X 3,5 $13.22
925.35.023 |O-RING FKM D=17,17X1,78 FDA-AP $35.45
925.35.024 |O-RING FKM D=15 X 3,5 3A-APPRO $43.32
925.35.026 [O-RING FKM D=16 X 2 $5.09

925.35.032 [O-RING FFKM D=15 X 3.5 $224.83
925.37.001 |COUNTER RING CERAM $67.68
925.37.014 |COUNTER RING D=15,5/24,8 X 15 $50.76
925.39.011 |BLANKING CAP PP D=30 X 2 $11.48
925.39.016 |RING FOR STUFF BOX D=15/27 X 6 $21.11
925.40.001 [VA-RING FKM D=20 F560S/GSS $18.96
925.44.002 |FLAT SEAL NOVAPRESS UNIVERSAL $2.48

925.45.006 |O-RING VITON 22 X 2 $5.74

925.45.015 [O-RING NBR D=24 X 2,5 $1.86

925.45.027 |O-RING FKM D=20,35 X 1,78 3A $29.54
925.45.034 |O-RING FKM/FEP D=23X3 $44.75
925.45.037 |O-RING FFKM D=20.35 X 1.78 $92.28
925.54.005 |FLAT SEAL PE D=27/32 Q.A.T.S $3.95

925.55.001 |O-RING FKM D=27 X 3 $12.10
925.55.006 |O-RING FKM D=25 X 4 $13.96
925.55.022 |SANI O-RING EPDM D=25 X 2,6 $15.13
925.55.024 |O-RING FEP D=27 X 3 $43.83
925.55.025 |O-RING FKM D=25,07 X 2,62 FDA $36.01
925.55.028 |O-RING FKM D=26 X 3 HAND TAP $12.05

FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 17



F.0.B ATLANTA

2018 Parts Price List

925.55.029 |O-RING EPDM D=26 X 3 $11.99
925.55.040 |O-RING FFKM D=25.07 X 2.62 $139.37
925.59.002 |FLAT SEAL NOVAPRESS UNIVERSAL $4.05

925.63.006 |O-RING NBR D=32 X 3 $6.31

925.63.017 |O-RING FKM D=32 X 3 FDA APPROV $49.91
925.64.001 |FLAT SEAL VULKOL D=30,5/39X1,5 $2.38

925.64.002 |FLAT SEAL PE D=31/39 X 1,5 $3.50

925.64.003 |FLAT SEAL PTFE D=31/39 X 1,5 $23.91
925.64.005 |FLAT SEAL KLINGERIT D=33/40 X2 $2.65

925.65.003 |O-RING FKM D=32,2 X 3 $13.62
925.65.006 |O-RING FKM D=33 X 3,5 $12.49
925.65.012 |O-RING FKM D=41 X 4 $22.24
925.65.020 |O-RING FEP D=32,2 X 3 $81.47
925.65.023 |O-RING FEP D=38 X 2,2 MINIFLUX $106.95
925.65.026 |O-RING EPDM D=32 X 3 $13.80
925.65.028 |O-RING FFKM 32.2 X 3 $184.66
925.65.036 |O-RING FEP D=30 X 4 $34.61
925.65.050 |O-RING FFKM D=37.83 X 1.78 $101.96
925.65.053 |O-RING FKM D=37 X 3 $5.64

925.65.056 |O-RING FFKM D=32,2 X 3 FDA APP $499.39
925.69.000 |SEALING WASHER PP D=38 X 2 $3.83

925.69.009 |SEAL KIT $82.54
925.73.006 |O-RING FKM D=46 X 3 $30.56
925.73.007 |O-RING EPDM D=46 X 3 $23.01
925.73.008 |O-RING FEP D=46 X 3 $43.61
925.75.002 |O-RING FKM D=45 X 3 $12.15
925.75.004 |O-RING FKM D=44,2 X 3 $12.95
925.75.007 |O-RING FKM D=47 X 5,3 $61.89
925.75.014 |O-RING FEP D=42 X 2,5 $83.97
925.75.018 |O-RING FKM D=47 X 2,5 $31.06
925.75.020 |O-RING PTFE D=47 X 2,5 $134.12
925.75.021 |O-RING FEP D=47 X 2,5 $70.23
925.75.022 |O-RING FKM D=41 X 3 $25.04
925.75.023 |O-RING FKM D=40,87 X 3,53 $32.53
925.75.024 |O-RING FEP D=40,87 X 3,53 $100.32
925.75.030 |O-RING EPDM D=40,87 X 3,53 $35.56
925.75.032 |O-RING FKM D=40 X 5 $27.13
925.75.033 |O-RING FKM D=41 X 4,5 $30.38
925.75.038 |O-RING FEP D=41 X 3 $59.79
925.75.041 |O-RING EPDM D=47 X 5,3 $23.26
925.75.042 |O-RING FEP D=41 X 4,5 $69.48
925.75.045 |O-RING EPDM D=41 X 4,5 $23.83
925.75.046 |O-RING FFKM D=40,87X3,53 FDA $692.04
925.75.047 |O-RING FFKM D=41 X 3 $296.78
925.77.002 |COUNTER RING CERAM D=42/75 X 8 $221.71
925.79.001 |FLAT SEAL VULKOL D=37/44 X 1,5 $3.83

925.79.002 |FLAT SEAL PE D=38,5/44 X 1,5 $6.03

FLUX Pumps Corporation
300 Townpark Drive, Ste 110, Kennesaw, GA 30144

1-800-367-3589

www.fluxpumpsusa.com

aoR

vl.l
18



F.0.B ATLANTA 2018 Parts Price List @

925.79.012 |FLAT SEAL PTFE D=39/44 X 1,5 $16.88
925.79.013 |FLAT SEAL PTFE D=43/50 X 1,5 $13.17
925.79.030 |SEALING RING PTFE D=36/46 X 5 $36.98
925.84.013 |GASKET PE 50MM S FUMEGLAND $8.84
925.85.001 [O-RING FKM D=57 X 3 $26.61
925.85.002 [O-RING FKM D=50 X 5 $34.49
925.85.015 |O-RING FKM D=53.35 X 5.33 $56.72
925.85.017 [O-RING S 50 X 5 50MM $68.48
925.85.018 [O-RING S 57 X 3 50MM FUMEGLAND $77.37
925.85.019 |O-RING FKM D=50 X 2 FDA APPROV $17.27
925.85.023 [O-RING FKM D=50 X 1.5 FDA APPR $298.86
925.89.002 |PROFILE SEAL FMC/PP+ETFE $28.64
925.93.024 |O-RING NBR D=94 X 1,5 $7.04
925.94.004 |FLAT SEAL FKM D=55/70 X 2 $17.01
925.95.050 |O-RING VITON 76 X 2 $39.56
925.95.070 [O-RING EPDM D=100 X 3,5 $41.80
925.95.071 |O-RING FKM D=100 X 3,5 $38.38
925.95.072 |O-RING FEP D=101,19 X 3,53 $129.40
925.95.073 |O-RING EPDM D=100 X 4 $33.26
925.95.074 |O-RING FKM D=100 X 4 $33.31
925.95.075 |O-RING FEP D=100 X 4 $284.96
925.95.077 |O-RING FKM D=117 X 4 $45.85
925.95.078 |O-RING FEP D=117 X 4 $111.12
925.95.079 |O-RING EPDM D=117 X 4 $43.61
925.95.092 [O-RING CR D=70 X 2 $7.04
925.95.112 |O-RING FEP D=65 X 2.5 $39.95
926.07.003 |PRESSURE SPRING $3.27
926.07.006 [SPRING WASHER 0,7/6,8 X 21,8 $2.98
926.07.007 |SPRING WASHER 0.8X7 5X29X8.5 $4.12
926.36.001 |[TOLERANCE RING BN 9 X 8 $4.78
926.37.000 |PRESSURE SPRING $4.78
926.56.001 |[TOLERANCE RING AN 17,5 X 10 $3.91
926.56.002 |BALL BEARING COMPENSATION RING $1.58
926.56.003 |BALL BEARING COMPENSATION DISC $1.58
926.56.006 |COMP WASHER KAS 20 A $1.13
926.57.000 |[PRESSURE SPRING D=1,5/13 X32,3 $3.66
927.12.001 |SPRING WASHER A5 (NICKEL-PLATE $0.68
927.41.017 |SPRING F4000 MOTOR $11.08
931.17.001 |BUTT JOINT BRASS/PVC W/COVER $3.05
931.17.003 |WIRE CONNECTOR $1.08
931.17.006 |PLUG CONNECTOR PA $20.21
931.29.002 [CONTACT - SQUARE $2.20
931.90.008 |GROUND WIRE W/ CLIP 2M LONG $30.45
931.90.015 |EARTH WIRE W/ RED CLIP 2M LONG $54.66
934.08.020 [POWER SUPPLY CABLE 5M LONG $129.40
934.08.030 |CONN CABLE SHIELDED 5M LONG $101.28
934.08.031 |CABLE 10 METER LONG ENDS OPEN $144.67
FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 19



F.0.B ATLANTA 2018 Parts Price List @

934.08.032 |[IMPULSE CABLE 5M SEPARATE DISP $142.38
934.08.033 [IMPULSE CABLE 10M SEPARATE DIS $230.13
934.08.034 |IMPULSE CABLE 15M SEPARATE DIS $322.35
934.08.035 |CONN CABLE 0.5M FSV100/MOTOR $208.17
934.08.036 [CONN CABLE 5M FSV100/VALVE $208.17
934.08.037 |POWER SUPPLY CABLE 5M 120V AMP $208.17
934.08.038 |CONN CABLE SHIELDED FMC METER $258.81
934.08.039 |CONN CABLE SHIELDED FMC FSV112 $177.68
934.08.901 |[POWER SUPPLY CABLE HO7RN-F4G X $12.39
935.01.002 |CABLE PROTECT SLEEVE ID=7,6 $13.22
935.01.009 |CABLE PROTECTION SLEEVE PVC $2.38

935.01.010 |CONTACT CABLE $1.02

935.01.013 |CABLE PROTECT SLEEVE CPL 42-24 $10.07
935.02.002 [STRAIN RELIEF $1.49

935.04.003 |SLEEVE WIDE FEMALE $2.38

935.04.004 |SLEEVE NARROW MALE $1.70

935.05.001 |[TERMINAL 2-POLE W/WIRE SHIELD $1.92

936.00.010 |ON/OFF SWITCH 2-POLE F417 MOTO $13.62
936.00.012 [ON/OFF SWITCH CPL F303K 120V $25.61
936.00.019 |REED RELAY FMC METER $55.05
936.00.024 |ON/OFF SWITCH 2-POLE F310PP $13.13
936.00.031 |SWITCH SINGLE-POLE F4070 MOTOR $9.57

936.00.037 |REED RELAY CPL "FLUXTRONIC" $24.76
936.01.001 |AUXILIARY SWITCH GREEN CLOSER $12.33
936.01.010 |START STOP BUTTON CPL $161.55
936.01.012 |HOLDING PLATE FOR FLANGE $48.76
936.03.007 |OVERLOAD PROT SWITCH 100/115V $30.62
936.06.004 [MOTOR PROT SWITCH 230V 3,1A $258.24
936.06.005 [MOTOR PROT SWITCH 120V 6.4 AMP $219.41
936.06.008 [MOTOR PROT SWITCH 24V/12 $196.23
936.06.018 |[MOTOR PROT SWITCH F410EX UL $258.92
936.06.025 [MOTOR PROT SWITCH F408 $258.24
936.06.036 |[MOTOR PROT SWITCH CPL E3PH $208.17
936.06.058 |[MOTOR PROT SWITCH F410EX 12V $245.30
936.06.099 |OVERLOAD PROT. SWITCH 230V 50 $115.33
936.06.101 |OVERLOAD PROT SWITCH 120V F457 $115.29
936.06.103 |[MOTOR PROT SWITCH F457 $219.42
936.06.107 |[MOTOR PROT SWITCH F458/F460EX $230.67
936.06.108 [MOTOR PROT SWITCH F458EX $242.88
936.06.111 |[MOTOR PROT SWITCH F460-1EX $231.32
936.06.113 |[MOTOR PROT SWITCH F458/F460 $242.88
936.06.115 |MOTOR PROT SWITCH F458-1/460-1 $242.88
936.06.117 |[MOTOR PROT SWITCH F460EX $210.31
936.06.121 |MOTOR PROT SWITCH F458EL/460EX $144.30
936.12.000 |SWITCH KNOB CPL BLACK $9.29

936.12.003 |SWITCH KNOB CPL $10.86
937.01.014 |CEKON PLUG 5 POLE $15.16

FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 20



F.0.B ATLANTA

2018 Parts Price List AUX

937.01.027 |PLUG $33.77
937.01.029 |CEE/EX PROOF PLUG CEAG 5 POLE $209.35
937.50.030 |SOCKET $37.61
937.50.034 |PLUG CABLE LENGTH 180MM FSV $70.25
937.50.040 |CEE/EX PROOF SOCKET CEAG5P $633.61
940.03.053 |[CONDENSER $15.71
940.03.060 |RADIO SHEILD FILTER F458/460-1 $61.89
940.04.014 |VARIABLE SPEED CONTOL CPL $120.64
940.04.020 |AMPLIFIER FSV132 230V 50-60HZ $489.46
940.04.022 |[ELECTRONIC SPEED CONTR F457EL $82.72
940.04.023 |VARIABLE SPEED CONTROL DEVICE $118.89
940.04.025 |BATTERY COVER CR2032 $11.77
940.04.032 |ELECTRONIC CPL FEM 4070 MOTOR $107.18
940.04.039 |[ELECTRONIC CPL FEM 4070 MOTOR $110.84
940.04.041 |AMPLIFIER FSV133 $326.84
942.17.001 |[INSULATING WASHER PA 12-110V $6.20
942.17.008 |INSULATING WASHER PA F450EX $7.94
942.17.010 |[INSULATING WASHER PA F460EX $8.67
944.00.001 |BRUSH BRIDGE CPL 115V 60HZ $54.86
944.00.010 |BRUSH BRIDGE CPL 42V $99.20
944.00.025 |BRUSH BRIDGE CPL 110-240V $49.79
944.00.027 |CARB BRUSH HOLDER PRE-ASSEMB $5.80
944.00.028 |BRUSH BRIDGE CPL 115-240V $60.66
944.00.043 |CARB BRUSH HOLDER F457 120V $6.92
944.00.044 |CARB BRUSH HOLDER F457/FA57EL $7.78
944.00.046 |CARB BRUSH HOLDER $5.64
944.01.001 |CARBON BRUSH 100/110/115V $13.62
944.01.006 |CARBON BRUSH 12-24V/24-42V $18.18
944.01.008 |CARBON BRUSH D=6,3 X8 X 20 $13.34
944.01.011 |CARBON BRUSH D=5 X5 X 17.5 $5.75
944.01.013 |[CARBON BRUSH F408-460EX $11.48
944.01.021 |CARBON BRUSH FEM4070 MOTOR $12.39
947.05.017 |SEALING CAP FMEL $1.83
947.05.031 |[PLUG PLASTIC LOWER HOUSING F45 $0.73
947.12.011 |GROUNDING STRAP AND SCREW $7.88
947.12.016 |SCREWED CABLE GLAND M12X1.5 $6.41
947.12.020 |EARTH CONNECTION $2.15
947.13.151 |CONN PIECE G 1-1/4A HAND NOZZL $174.40
947.13.163 |THREADED CON CLAMP 1-1/2" $236.30
947.13.164 |TRI-CLAMP CONN 1-1/2" HAND TAP $256.23
947.15.008 [SILENCER G 1/2 FEMALE $45.02
950.60.001 [DIRECTION ARROW $1.77
950.60.134 |KEY F4070 MOTOR LABEL =/ - $3.37
952.00.006 |GREASE FOR SHAFT SEAL $372.84
952.00.008 |GEAR GREASE $12.05
952.00.044 |FLUX FOOD GRADE GREASE $49.79
958.00.025 |[LIP SEAL ASSEMBLY V322MB HFS $583.70
FLUX Pumps Corporation vl.l
300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 21



F.0.B ATLANTA 2018 Parts Price List @

958.25.019 |SL RING GASKET CPL F430AL $36.46
958.25.020 |SL RING GASKET CPL F520S $148.14
958.25.055 |SL RING GASKET CPL F425/F426/ $43.71
958.25.062 |SL RING GASKET CPL LENGTH=20 $621.11
958.25.067 |BELLOW-SL RING GASKET CPL $107.35
958.25.077 |SL RING GASKET CPL 550S/GS $142.01
958.25.080 [SL RING GASKET CPL $301.12
958.25.084 |SL RING GASKET CPL (INACTIVE) $300.66
958.25.092 |SL RING GASKET CPL F430/F425/ $182.86
958.25.096 |BELLOW- SLIDING RING GASKET CP $230.38
958.25.097 |SL RING GASKET CPL F550S/GS $423.97
958.25.102 |SL RING GASKET CPL F560S/GS $371.33
958.25.109 |SL RING GASKET CPL F425/F426/ $47.26
958.25.110 [SLIDING RING GASKET CPL F430S $58.19
958.25.119 |SL RING GASKET CPL F560S/GS3A $688.01
958.25.122 |SLIDING RING GASKET OXIDE CER $211.65
959.04.043 |[HOSE CON CPL HC 1-1/4" W/NUT $511.64
959.04.073 |HOSE CON CPL PP 1" W/ NUT $12.24
959.04.115 |SANI HOSE CON S 1" W/NUT $223.35
959.04.129 |HOSE CON CPL S 1-1/4" HAND TAP $117.64
959.04.130 |[HOSE CONN DN 38,RD 58 X 1/6 $231.95
959.04.135 |[HOSE CON CPL PP 1/2" F310/314 $13.80
959.04.136 |[HOSE CON CPL S 1" CLAMP 2" $253.18
959.04.138 |HOSE CON CPL S 3/4" F427S $223.35
959.04.160 |[HOSE CON 3/4" HAND NOZZLE S $163.16
959.04.161 |CONN PIECE DN25-HNSS 1" $150.03
959.04.169 |[HOSE CON S 1-1/2" FKM W/CLAMP $141.52
959.04.170 |HOSE CON S 1-1/2" NBR W/CLAMP $141.52
959.04.171 |[HOSE CON S 1-1/2" FKM W/CLAMP $141.52
959.05.005 [HOSECONS 1"G 1-1/2 A $138.00
959.05.006 |HOSE CON S 1-1/4" G 1-1/2 A $138.00
959.05.007 |[HOSE CON S 1-1/2" G 1-1/2 A $138.00
959.05.017 |[HOSE NOZZLE BRASS 1/2" G 1/2 A $30.78
959.05.022 |[HOSE NOZZLE BRASS 3/8" G 1/4 A $8.35

959.05.041 |[HOSE CON AL 1"G 1-1/4 A $24.08
959.05.043 |HOSE CON AL 1-1/4" G 1-1/4 A $24.08
959.05.048 |[HOSECON S 1" G 1-1/4 A $99.15
959.05.049 |[HOSE CON S 1-1/4" G 1-1/4 A $99.15
959.05.066 |[HOSE CON PP 1" G 1-1/4 A $6.14

959.05.067 |HOSE CON PP 3/4" G 1-1/4 A $6.14

959.05.082 |HOSE CON PP 1-1/4" G 1-1/4 A $6.14

959.05.084 |HOSE CON PVDF 3/4" G 1-1/4 A $66.00
959.05.085 |HOSE CON PVDF 1" G 1-1/4 A $66.00
959.05.086 |HOSE CON PVDF 1-1/4" G 1-1/4 A $66.00
959.05.093 |[HOSE CON S 3/4" G 1-1/4 A $172.44
959.05.100 |[HOSE CON PP 3/4"G 1A $7.60

959.05.114 |HOSE CON PP 1/2" G 1-1/4 A $5.91

FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 22



F.0.B ATLANTA

2018 Parts Price List

959.05.171 |HOSE CON PVDF HAND TAP 3/4" SW $35.96
959.05.173 |HOSE CON PVDF 1" HNPV1072 $44.96
959.05.236 |HOSE NOZZLE 1-1/4" - (CUZN) $64.32
959.06.003 |[REDUCTION PIECE G 2 A-G 1-1/2 $257.40
959.06.005 |REDUCTION PIECE S F500 $182.28
959.06.037 |DOUBLE NIPPLE PP MALE G1 1-1/4 $65.26
959.06.059 |CONN PIECE CPL S LIQUID METER $101.28
959.06.061 |CONN PIECE CPL METER $157.14
959.06.122 |CONN PIECE S 1 X 1-1/2 $138.84
959.06.134 |CONN PIECE S 1/2 X 1-1/2 $150.03
959.06.143 |CONN PIECE S 1/2 X 1-1/4 $178.93
959.06.179 |CONN PIECE PP 1 X 1-1/4" $74.39
959.06.187 |ADAPTERG11/4-G1A $142.47
959.06.188 |DRUM ADAPTERIG G 2 -AG S $14.92
959.06.201 |REDUCTION PIECE M29 X1.5/G3/4 $160.23
959.06.205 |FITTING DEF 1.5 NP F640AB PUMP $478.21
959.06.SSS |[DOUBLE NIPPLE PP G 1-1/4 A $60.35
959.13.014 |SWAGED FITTING MS 1-1/4" $87.39
959.13.128 |UNION JOINT HOSE PP DN10 $18.91
959.13.144 |SWAGED FITTING S/AL DN25 $218.61
959.13.145 |SWAGED FITTING DN32-G 11/4 $186.19
959.13.167 |CLIP S HOSE $5.35

959.13.231 |SWAGED FITTING S 7/8" $170.40
959.13.247 |EAR CLIP D=35 $4.59

959.13.293 |SWAGED FITTING PP 7/8" G 1-1/4 $170.40
959.13.305 |SWAGED FITTING PP 7/8" $170.40
959.13.307 |SWAGED FITTING PVDF 7/8" $187.54
959.13.363 |SWAGED FITTING S 1-1/2" FDA AP $235.76
959.14.019 |STOP VALVE D=20 USE W/EXT TUBE $69.50
959.14.049 |STOP VALVE $626.90
959.14.052 |OUTLET TUBE $203.61
959.14.058 |VALVE $166.10
961.40.111 |[EXTRACTOR TOOL FLUX AIR MOTOR $256.92
961.40.129 |KEY FLUX AIR MOTOR $51.77
961.40.145 |KEY TRIANGULAR F410EX $53.59
961.40.205 |PLATE FLUX AIR MOTOR $28.94
961.40.416 |CENTER TOOL FLUX AIR MOTOR $38.86
961.40.422 |NUT FLUX AIR MOT $74.27
961.40.423 |MOUNTING FLUX AIR MOTOR $57.97
961.40.427 |FLUX AIR MOTOR $101.48
961.40.428 |PLATE FLUX AIR MOTOR $26.20
A0804901 |METER BODY FMO 4/AL W/THREAD $323.90
A0804903 |SET OF OVAL ROTORS FMO4 $241.12
A0804905 |SET OF OVAL ROTORS FMO4 (PPS) $241.12
A0840905 |SET OF OVAL ROTORS FMO4 (PPS) $319.90
D10.70.000 |5/2 WAY CONTROL VALVE RFM 10/ $232.93
D10.70.035 |DAIPHRAGM NBR $89.40

FLUX Pumps Corporation

300 Townpark Drive, Ste 110, Kennesaw, GA 30144

1-800-367-3589

www.fluxpumpsusa.com

aoR

vl.l
23



F.0.B ATLANTA 2018 Parts Price List @

D10.70.036 |DIAPHRAGM PTFE/EPDM $125.17
D10.70.037 |DIAPHRAGM EPDM $89.40
D10.70.038 |DIAPHRAGM FKM $145.31
D10.70.200 |BEARING W/ O-RINGS $280.87
D25.70.038 |DIAPHRAGM FPM D25 $356.86
D25.70.200 |BEARING KIT D25 AOD PUMP $483.84
D25.74.000 [CONTROL VALVE 5/2 D25 AOD PUMP $371.90
D25.74.034 |CONTROL VALVE AIR VALVE RFML15 $708.88
D25.74.052 |CAGE BALL PTFE D25 1" AOD PUMP $29.16
D25.74.076 |BALL PTFE 28MM D25 1" AOD PUMP $27.41
FLU.03.101 |F424 EPDM RETROFIT $114.84
FLU.03.102 [F424 PTFE/FFKM RETROFIT $267.99
FLU.03.103 |F425/F426 EPDM RETROFIT $231.78
FLU.03.104 |F425/F426 PTFE/FFKM/FEP RETRO $661.09
FLU.03.105 |F430 EPDM RETROFIT $117.12
FLU.03.106 [F430 PTFE/FFKM RETROFIT $515.40
FLU.03.107 |F550 EPDM RETROFIT $202.02
FLU.03.108 |F550 FEP RETROFIT $390.02
FLU.03.109 |F550 FFKM RETROFIT $510.36
FLU.03.110 [F424 PTFE SEAL ONLY RETROFIT $108.73
FLU.06.001 |FDM 12 AIR SERVICE KIT $88.00
FLU.06.002 [FDM 12 AL/NN FLUID SERVICE KIT $156.00
FLU.06.003 [FDM 12 AL/TT FLUID SERVICE KIT $410.67
FLU.06.004 |FDM 12 PP/AA FLUID SERVICE KIT $129.33
FLU.06.005 [FDM 12 PP/TT FLUID SERVICE KIT $410.67
FLU.06.006 [FDM 12 PVDF/TT FLUID SERVICE K $410.67
FLU.06.007 |[FDM 12 S/TT FLUID SERVICE KIT $442.67
FLU.06.008 |FDM 25 AL/NN AIR SERVICE KIT $85.33
FLU.06.009 [FDM 25 AL/NN FLUID SERVICE KIT $452.00
FLU.06.010 |FDM 25 PP/AA AIR SERVICE KIT $85.33
FLU.06.011 [FDM 25 PP/AA FLUID SERVICE KIT $526.67
FLU.06.012 |FDM 25 PP/TT AIR SERVICE KIT $114.67
FLU.06.013 [FDM 25 PP/TT FLUID SERVICE KIT $293.33
FLU.06.014 |FDM 25 PVDF/TT AIR SERVICE KIT $202.67
FLU.06.015 [FDM 25 PVDF/TT FLUID SERVICE K $1,344.00
FLU.06.016 [FDM 25 S/TT AIR SERVICE KIT $114.67
FLU.06.017 |[FDM 25 S/TT FLUID SERVICE KIT $344.00
FLU.06.018 [FDM 40 AL/NN FLUID SERVICE KIT $261.33
FLU.06.019 [FDM 40 PVDF/TT FLUID SERVICE K $1,006.67
FLU.06.020 |FDM 40 S/TT FLUID SERVICE KIT $888.00
FLU.06.021 [FDM 50 AL/TT AIR SERVICE KIT $114.67
FLU.06.022 |FDM 50 GG/NN AIR SERVICE KIT $114.67
FLU.06.023 [FDM 50 GG/NN FLUID SERVICE KIT $252.00
FLU.06.024 [FDM 50 GG/TT AIR SERVICE KIT $114.67
FLU.06.025 |FDM 50 GG/TT FLUID SERVICE KIT $1,108.00
FLU.06.026 |FDM 50 PP/AA AIR SERVICE KIT $62.67
FLU.06.027 |FDM 50 PP/AA FLUID SERVICE KIT $322.67
FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 24



F.0.B ATLANTA

2018 Parts Price List

FLU.06.028 |FDM 50 PP/TT AIR SERVICE KIT $62.67
FLU.06.029 |FDM 50 PP/TT FLUID SERVICE KIT $1,006.67
FLU.06.030 |FDM 50 PVDF/TT AIR SERVICE KIT $62.67
FLU.06.031 [FDM 50 PVDF/TT FLUID SERVICE K $1,006.67
FLU.06.032 |FDM 50 S/TT AIR SERVICE KIT $114.67
FLU.06.033 |FDM 50 S/TT FLUID SERVICE KIT $1,108.00
FLU.06.034 |FDM 80 AL/NN AIR SERVICE KIT $114.67
FLU.06.035 [FDM 80 AL/NN FLUID SERVICE KIT $252.00
FLU.06.036 |FDM 80 AL/TT AIR SERVICE KIT $114.67
FLU.06.037 |FDM 80 AL/TT FLUID SERVICE KIT $1,108.00
FLU.06.038 |FDM 80 GG/TT AIR SERVICE KIT $62.67
FLU.06.039 |FDM 80 GG/TT FLUID SERVICE KIT $441.33
FLU.06.040 |FDM 80 S/M5 AIR SERVICE KIT $114.67
FLU.06.041 |[FDM 80 S/TT AIR SERVICE KIT $114.67
FLU.06.042 |FDM 80 S/TT FLUID SERVICE KIT $1,108.00
M1070079 |FDM 10 AA FLUID SERVICE KIT $87.04
M1070080 |FDM 10 TT FLUID SERVICE KIT $289.68
M1248001 |FDM 12 PP/CC FLUID SERVICE KIT $144.00
M1270091 |FDM 12 AC/TS FLUID SERVICE KIT $530.40
M1270092 |FDM 10 AIR SERVICE KIT $89.76
M1270122 |PLUG PVDF M12 PVDF AOD PUMP $8.48
M2568100 |FDM 25 AL/TT AIR SERVICE KIT $66.44
M2570105 |FDM 40 AIR SERVICE KIT $63.93
M2570107 |FDM 25 AL/TT FLUID SERVICE KIT $450.16
M2570171 |FDMH 25 S/TS FLUID SERVICE KIT $1,113.84
M2570172 |FDMH 25 S/TS AIR SERVICE KIT $130.56
M4048002 |FDM 40 PP/TT FLUID SERVICE KIT $1,067.00
M4070082 |FDM 40 GG/NN FLUID SERVICE KIT $266.56
M4070083 |FDM 40 AL/TT FLUID SERVICE KIT $905.76
M4070098 |FDM 40 PP/AA FLUID SERVICE KIT $329.13
M5070080 |FDM 50 AL/TT FLUID SERVICE KIT $1,130.16
M5070081 [FDM 50 AL/GG FLUID SERVICE KIT $257.04
M5070131 |FDM 50 AL/GG AIR SERVICE KIT $116.97
M8070032 |FDM 80 S/M5 FLUID SERVICE KIT $350.88
P0240900 [MIXING SHAFT S 900MM 36" $403.17
P9010238 |ATTACHMENT CLAMP S D=200 $838.17
P9020133 |SHAFT END PIECE S FOR MIXER $44.25
S.3019.02 |PIN/ZWISCHENWELLE $161.27
S.3019.06 [STATORMANTEL KPL $161.27
FLU.00.042 |6' HOSE CHEM1 $145.00
FLU.00.043 [10' HOSE CHEM1 $245.00
FLU.00.044 |FERRULE $20.00
FLU.02.001 |[CONN 1-1/2" BSPF X 1-1/2" NPTM $198.64
FLU.02.002 |1" FEP HOSE ASSY1-1/4"FBSP/9FT $735.42
FLU.02.003 [1" FEP HOSE ASSY 1.25" BSP/6FT $604.10
FLU.02.004 |1" FEP HOSE ASSY 1" FNPT/6FT $525.30
FLU.02.005 |HOSE 1" CHEM FEP LINED FDA/FT $52.53

FLUX Pumps Corporation

300 Townpark Drive, Ste 110, Kennesaw, GA 30144

1-800-367-3589

www.fluxpumpsusa.com

aoR

vl.l
25



F.0.B ATLANTA 2018 Parts Price List @

FLU.02.007 [TRI-CLAMP S 1.5 END CAP SANITA $19.91
FLU.02.008 |SANITARY END CAP 3" $27.08
FLU.02.010 [SANITARY GASKET BUNA 3" $5.25
FLU.02.011 |SANITARY GASKET BUNA 2" $2.10
FLU.02.012 |O-RING EPDM $1.82
FLU.02.013 |O-RING EPDM $1.66
FLU.02.014 |O-RING EPDM $1.66
FLU.02.015 |LIP SEAL PTFE D=6 X 17 X6 $39.61
FLU.02.016 |O-RING PTFE D=10 X 2 CUSTOM $1.15
FLU.02.017 |O-RING PTFE 32.2 X 3 SEAL-JET $47.60
FLU.02.018 |O-RING PTFE 47 X 2.5 $22.84
FLU.02.019 |O-RING EPDM D=41 X 4.5 $35.47
FLU.02.020 |O-RING PTFE 41 X 4.5 $34.41
FLU.02.021 |O-RING PTFE D=47 X 2.5MM $13.94
FLU.02.022 |O-RING EPDM 17.5 X 2 F560 $6.67
FLU.02.023 |O-RING EPDM 25 X 2.6 F560 $8.55
FLU.02.024 |O-RING VITON SEAL S F560 S $13.68
FLU.02.025 [STATOR HOUSING 50MM W/ PLATE $347.48
FLU.02.026 [HOOK WRENCH 52/55 $49.02
FLU.02.027 [MOUNTING BOLTS 1/2" X 1-1/2" $5.08
FLU.02.028 [MOUNTING BOLTS S 3/8"X 1-1/4" $2.67
FLU.02.029 [MOUNTING BOLTS 1/4" X 3/4" $1.39
FLU.02.030 [CUP POINT SET SCREW 5/16 $0.61
FLU.02.031 [FORMULA 8 PASTE 3.5 OZ TUBE $41.22
FLU.02.032 |BALL VALVE ACTUATED 120V $818.42
FLU.02.033 |ADAPTER NPB 1/2 X 1/2 $18.91
FLU.02.034 [CONN PIECE S 1/2" THREADED $6.30
FLU.02.035 [COUPLING MOTORSIDE 1" BORE GEA $147.08
FLU.02.036 |COUPLING SPECIAL F500 $270.00
FLU.02.037 [NET SALE: DOWEL PIN G11A $1.28
FLU.02.038 [MUFFLER 1/2" GAST 6AM/8AM AIR $88.78
FLU.02.039 [REPAIR KIT FOR 6AM NRV AIR MOT $379.21
FLU.02.040 |MACNAUGHT PCB ASSEMBLY $315.18
FLU.02.041 [BRUSH SEATER COMMUTATOR CLNR $9.21
FLU.02.042 |1" HOSE BARB X 1.5" TRI CLAMP $177.33
FLU.02.043 [GASKET TRI CLAMP PTFE 1.5" $10.60
FLU.02.044 |TRI-CLAMP 1.5" CLAMP $30.89
FLU.02.045 [PINCH HOSE CLAMP BAND STYLE $2.10
FLU.02.046 |PINCH HOSE CLAMP 1 BAND STYLE $2.10
FLU.02.047 |O-RING $1.33
FLU.02.048 |FLAT WASHER S 8MM $0.32
FLU.02.049 [LOCK NUTS S 8MM $0.79
FLU.02.050 |STUD S 8MM X 60M $8.40
FLU.02.051 |SS BARBED HOSE FITTING $182.02
FLU.02.052 |AIR FLOW CONTROL 1/4" $56.84
FLU.02.053 |AIR FLOW CONTROL 1/2" NPT $84.95
FLU.02.054 |BALL VALVE 1/4" M/F W/ TURN KN $17.65
FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 26



F.0.B ATLANTA

2018 Parts Price List

FLU.02.055 |REDUCTION PIECE 1/2 X 1 $24.69
FLU.02.056 |COUPLING HUB ROTEX 24 3/4" BOR $59.88
FLU.02.057 |HOSE PVC 3/4" ID BRAIDED/FT $5.52

FLU.02.058 |[ADAPTER S THREADED 1-1/4" X 1" $179.27
FLU.02.059 |ADAPTER 1.25" NPT F500 SERIES $137.89
FLU.02.060 [CONN 1-1/4" BSPF X 1-1/2" NPTM $198.56
FLU.02.061 |MAXELL 2032 BATTERY $5.74

FLU.02.062 |[ADAPTER S THREADED 1-1/4" X 1" $155.15
FLU.02.063 |[SANITARY CLAMP HD 2" $31.52
FLU.02.064 [SANITARY CLAMP HD 3" $42.02
FLU.02.065 |COUPLING MOTORSIDE 7/8" BORE $176.40
FLU.02.066 |[COUPLING MOTORSIDE 5/8" BORE $126.32
FLU.02.067 |COUPLING MOTORSIDE 1-1/8" $159.96
FLU.02.068 |STATOR HOUSING 50MM W/ PLATE $347.48
FLU.02.069 |BEARING F55GS/F560GS GEAR UNIT $115.67
FLU.02.070 |BEARING F55GS/F560GS GEAR UNIT $14.34
FLU.02.071 |NEEDLE ROLLER BEARING F55GS/F5 $13.35
FLU.02.072 |GROOVE BALL BEARING D=7/19 X 6 $21.79
FLU.02.073 |BEARING $20.63
FLU.02.074 |BEARING S F427S3A $34.36
FLU.02.075 |BEARING S F427S3A $34.36
FLU.02.076 |GROOVE BALL BEARING D=10/30 X9 $24.16
FLU.02.077 |GROOVE BALL BEARING D=20/47X14 $42.64
FLU.02.078 |GROOVE BALL BEARING D=25/52X15 $50.75
FLU.02.079 |MUFFLER FELT PACKING 4 & 5HP $3.14

FLU.02.080 |GASKET G11A AIR MOTOR HOUSIN $5.52

FLU.02.081 |GASKET GAST AIR MOTOR $3.30

FLU.02.082 |ELECTRICAL CONN LIQUID METER $148.92
FLU.02.083 |O-RING ENCAPSULATE 40.87 X 3.5 $62.33
FLU.02.084 |O-RING ENCAPSULATED 47 X 5.3 $81.09
FLU.02.085 |GROOVE BALL BEARING D=7/22 X 7 $18.58
FLU.02.086 |GROOVE BALL BEARING D=8/22 X 7 $24.44
FLU.02.087 |GROOVE BALL BEARING 9/26 X 8 $23.73
FLU.02.088 |GROOVE BALL BEARING D=9/24 X 7 $24.16
FLU.02.089 |GROOVE BALL BEARING D=10/26 X8 $38.78
FLU.02.090 |GROOVE BALL BEARING D=10/30 X9 $32.11
FLU.02.091 |GROOVE BALL BEARING D=12/32X10 $34.36
FLU.02.092 |GROOVE BALL BEARING D=12/32X10 $32.44
FLU.02.093 |GROOVE BALL BEARING D=15/35X11 $39.61
FLU.02.094 |BALL VALVE ELECT ACTUATED $819.47
FLU.02.095 [SPRING FOR FAE SS NOZZLE $94.55
FLU.02.096 |GEAR BEARING-INA-F414 $6.84

FLU.02.097 [O-RING 40.87X3.53MM K223 ZAT $377.39
FLU.02.098 [O-RING KALREZ K32023 ZAT $205.13
FLU.02.099 |HOSE EPDM 3/4" ID/FT $5.52

FLU.02.100 |[COUPLING HUB ROTEX KTR 1" BOR $59.88
FLU.02.101 |SANITARY HOSE CONNECTION 2" $68.29

FLUX Pumps Corporation

300 Townpark Drive, Ste 110, Kennesaw, GA 30144

1-800-367-3589

www.fluxpumpsusa.com

aoR

vl.l
27



F.0.B ATLANTA 2018 Parts Price List @

FLU.02.102 [SANITARY HOSE CONNECTION 3" $388.72
FLU.02.103 |T-PIECE FP425S 1.5" TRI CLAMP $694.55
FLU.02.104 |HOSE PVC 1" ID BRAIDED/FT $5.52
FLU.02.105 |[CONN PP 1" MALE IN/OUT $112.52
FLU.02.107 [CONN S 1" NPT MALE IN/OUT $353.06
FLU.02.108 |FOOT PIECE F424S 50/46 $111.53
FLU.02.109 |[HOSE PVC 1/2" ID BRAIDED/FT $5.52
FLU.02.112 |BOLT $0.61
FLU.02.113 |NUT $0.20
FLU.02.114 [COUPLING MOTORSIDE 1-3/8" $183.86
FLU.02.115 |[HOSE 2" W/ 2" SANI CLAMPS/4FT $735.42
FLU.02.116 |HANDLE S F425S $275.18
FLU.02.117 |VALVE BALL VITON $35.50
FLU.02.118 [HOSE CONDUCTIVE EPDM 3/4 ID/FT $9.69
FLU.02.119 [OPEN IMPELLER MODIFIED 100/12 $89.80
FLU.02.120 |PP 2" DEF CHECK VALVE ANSI FLA $879.20
FLU.02.121 |PP 2" DEF DIAPHRAGM VALVE ANSI $879.20
FLU.02.122 |PP 2" DEF PRESS RELIEF VALVE $879.20
FLU.02.124 [INNER TUBE CPL F424PP 50/38 $1,840.00
FLU.02.125 [AIR MOTOR W/O COUPLING & ADAPT $263.25
FLU.02.126 |COUPLING FOR AIR MOTOR $137.25
FLU.02.127 |[ADAPTER FLU.01.020 AIR MOTOR $274.50
FLU.02.128 |CAMLOCK 1" PP FEMALE $17.84
FLU.02.129 [CAMLOCK 1" PP MALE $5.61
FLU.02.130 |CAMLOCK 2" PP FEMALE $32.80
FLU.02.131 [CAMLOCK 2" PP MALE $8.80
FLU.02.132 |CAMLOCK 2"PP FEMALE XS60 M BUT $45.80
FLU.02.133 [S60X6M BUTTRESS X 2"NPS FEMALE $22.17
FLU.02.134 |S60X6M BUTTRESS X S100X8 F BUT $43.95
FLUX Pumps Corporation vl.l

300 Townpark Drive, Ste 110, Kennesaw, GA 30144 1-800-367-3589 www.fluxpumpsusa.com 28



	Parts

